
Lines 
A	
  ring	
  costs	
  $36	
  more	
  than	
  a	
  bracelet.	
  The	
  cost	
  of	
  the	
  
bracelet	
  is	
  4/7	
  the	
  cost	
  of	
  the	
  ring.	
  Find	
  the	
  total	
  of	
  the	
  two	
  
items.	
  	
  
 
Angles 
Nathan	
  and	
  Audrey	
  had	
  $250.	
  After	
  Audrey	
  gave	
  Nathan	
  
$10,	
  they	
  both	
  had	
  equal	
  amounts	
  of	
  money.	
  How	
  much	
  
money	
  did	
  Nathan	
  have	
  in	
  the	
  beginning?	
  Explain	
  your	
  
answer.	
   
 
Polygons  
What	
  is	
  the	
  sum	
  of	
  all	
  the	
  even	
  numbers	
  from	
  2	
  to	
  40? 


